
平方根・変形①②　1
３年　　組　　番・氏名　　　　　　　　　　　　

⑫ 
5

8181

=

5

9

⑪ 
3

4949

=

3

7

⑩ 7575

= 2525 % 3

= 5 3

⑨ 2020

= 4 % 5

= 2 5

⑧ 1818

= 9 % 2

= 3 2

⑦ 8

= 4 % 2

= 2 2

◆次の数を変形して、√の中をできるだけ簡単な数にせよ。

⑥ 
2727

3

=

2727

9
=

2727

9
= 3

⑤ 
8

2

=

8

4
=

8

4
= 2

④ 5 2

= 5 % 2 = 2525 % 2

= 2525 % 2 = 5050

③ 4 2

= 4 % 2 = 1616 % 2

= 1616 % 2 = 3232

② 3 7

= 3 % 7 = 9 % 7

= 9 % 7 = 6363

① 2 3

= 2 % 3 = 4 % 3

= 4 % 3 = 1212

◆次の数を変形して、 の形にせよ。a

＜　　　年   月   日＞

平方根・変形①②　2
３年　　組　　番・氏名　　　　　　　　　　　　

⑫ 
1111

100100100

=

1111

1010

⑪ 
7

3636

=

7

6

⑩ 9898

= 4949 % 2

= 7 2

⑨ 3232

= 1616 % 2

= 4 2

⑧ 2727

= 9 % 3

= 3 3

⑦ 2424

= 4 % 6

= 2 6

◆次の数を変形して、√の中をできるだけ簡単な数にせよ。

⑥ 
5050

5

=

5050

2525
=

5050

2525
= 2

⑤ 
4545

3

=

4545

9
=

4545

9
= 5

④ 6 2

= 6 % 2 = 3636 % 2

= 3636 % 2 = 7272

③ 3 6

= 3 % 6 = 9 % 6

= 9 % 6 = 5454

② 3 2

= 3 % 2 = 9 % 2

= 9 % 2 = 1818

① 2 5

= 2 % 5 = 4 % 5

= 4 % 5 = 2020

◆次の数を変形して、 の形にせよ。a

＜　　　年   月   日＞


